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Rajan lent Rs. 400 to Manoj and Rs. 100 to Ajay for 4 years at same rate of
interest and received together from both Rs. 60 as interest. Find the rate of

interest, simple interest being calculated.
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A, B and C can alone complete a work in 15, 12, and 18 days, respectlvely B
and C started the work and after working 6 days, B left and A joined. In
how many days was the total work completed?
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A number is mistakenly divided by 5 instead of being multiplied by 5.
Find the percent change in the result due to this mistake.
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A and B are the two alloys of copper and brass prepared by mixing metals in
the proportion of 7 : 2 and 7 : 11, respectively. If equal quantities of the two

alloys are melted to form a third alloy C, then the proportion of copper and
brass in C will be:
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A started a business by investing ¥4,80,000. After some months B join
him with an investment of ¥ 2,40,000. At the end of the year, the profits
were divided among themselves in the ratio of 3 : 1. How long has it
been since léjoined A?
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Three taps A, B and C can fill a tank 1n 12, 15 and 20 hours respectively.
If A 1s opened all the time and B and C are open for one hour each

alternately starting with A and B, the tank will be full 1n:
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